Whitman College 
Econ 448 
Final Exam 
May 3, 1996 



Write all answers in your blue book. Show all of your work. 



1. (60pts) Below are the real consumption, investment, and government expenditure functions for the nation of Isolation, a country that does not engage in international trade. 

C = 200 + 0.6Y 
I = 300 
G = 100. 

(a) Using the Keynesian-cross model, calculate the macroeconomic equilibrium level of aggregate output. 

(b) What is the expenditure multiplier for this economy? 

(c) If the full employment equilibrium level of output were 1,400, and the government wanted to use fiscal policy to achieve full employment, what would the new level of government expenditures be? 


The nation of Overt has the same real consumption, investment and government expenditure functions as does the nation of Isolation: 

C = 200 + 0.6Y 
I = 300 
G = 100. 

However, Overt engages in international trade in goods. Overt does not engage in international trade in financial assets. Overt's exchange rate is fixed. Overt's real trade balance, T, is given by the following function 

T = 120- 0.2Y. 


(d) Using the open-economy version of the Keynesian-cross model, calculate Overt's Keynesian macroeconomic equilibrium level of aggregate output. 

(e) What is the expenditure multiplier for this economy? 

(f) What is Overt's real trade balance? 

(g) If Overt's full employment equilibrium level of output were 1,400, and the government wanted to use fiscal policy to achieve full employment, what would the new level of government expenditures be? 

(h) If the government of Overt changed its expenditure in order to achieve full employment as you described in Part (g), what would happen to Overt's trade balance? 



2. Suppose that you are the economic adviser to a government which wishes to enact a policy to increase real aggregate output in order to end a recession. Your country has an open economy, operating under a flexible exchange rate, in a world with perfect capital mobility. Your bosses are trying to decide between using fiscal or monetary policy and ask for your opinion. 

(a) (60pts) Using the open-economy version of the IS-LM model, explain what policy you would recommend to achieve the desired goal. Refer to the appropriate diagrams. 

(b) (20pts) Your bosses ask you to write a short press release designed for the general public in which you explain in layman's language what your suggested policy will do and how it will work. 



3. (60pts) Answer three of the following questions, but not the question from your own presentation. 

(i) Briefly outline the arguments for and against the North American Free Trade Agreement. Describe the evidence to date on the macroeconomic effects of NAFTA. 

(ii) What makes Great Britain unique relative to the other member-states of the European Union (EU), and how do these qualities affect its decisions to participate in the EU? 

(iii) What makes Burma a less tempting investment site than its government would have us believe? 

(iv) What caused the latest Japanese recession? 

(v) What has Chili done to make its economy an outstanding success among Latin American countries? 

(vi) When Hong Kong reverts to Chinese control in 1997, what do you predict will happen to Hong Kong's economic system? 

(vii) Why do governments of lesser developed countries use currency controls? 

(viii) From the evidence presented in class, did covered interest parity hold during the years 1980-1994? 

(ix) Do the benefits of joining the European Monetary Union outweigh the costs? 

(x) Describe the proposed European central bank under monetary union. What controversies surround the creation of this central bank?
